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I. (20 points) Indicate whether the statement is true (T) or false (F). Circle your response.

(u) A homogeneous linear system may have exactly one non-trivial solution.
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(e) If A is a matrix with more columns than rows, then the columns of A form a linearly
independent set.
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2. (10 points) Use any valicl method to solve the system. Place your final answer in the blank

below.
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ANSWER: (r1, 12, rz, ra) :
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that the following linear system has infinitely many solutions.
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3. (10 points)

(a) Find all values of h so that the columns of the following matrix span 1R2.

(b) Find all values of k so
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4. (10 points) Let u1

(a) Let v:
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Give an example of a vector w that is not in span{u1, u2}.
to justify your a,nswer.
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